
The tangent lines of a strictly concave function 
are above the graph of the function. 

A strictly concave function increases at a decreasing 
rate, i.e., given ∆xAB = ∆xBC = ∆x,  
∆yBC < ∆yAB    => ∆yBC - ∆yAB < 0  or ∆(∆y)<0

and decreases at an increasing rate, i.e., 
given ∆xCB = ∆xBA = ∆x,  
∆yBA < ∆yCB    => ∆yBA - ∆yCB < 0  or ∆(∆y)<0

It follows that a larger change in x is required to bring
about the same increase in the function value, i.e. 
given ∆yAD = ∆yDE =  ∆y > 0,  ∆xAD < ∆xDE. 

An example of a strictly concave function: 
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